
START

Warm air from the 
Atlantic ocean

blows towards 
Morocco

from the west

carrying a lot of 
moisture.

The warm air is 
forced

to rise over the 
Atlas Mountains.

As it rises it starts 
to cool.

The cooling causes 
water vapour in the 

air

to condense

forming clouds.

 
As the air rises 

higher

heavy rain  falls on 
the windward side 
of the mountains

and in winter

snow sometimes 
falls

This is know as 
RELIEF RAINFALL

As the air 
continues moving 
from the west

 it starts to sink

The sinking air 
warms up

so any water 
droplets in the air

evaporate

making the clouds 
disappear

and leaving clear 
blue skies

along with dry 
conditions

This effect helps 
to create desert 

conditions
in western Algeria.

FINISH

on the sheltered 
leeward side

This is known as 
the rain shadow 

effect

Rearrange the dominoes to show 
the correct sequence 


